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General Instructions :

Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it) Question paper is divided into five Sections — Section A, B, C, D and E.

(iti) Section A — question number 1 to 21 are Multiple Choice type Questions.

Each question carries 1 mark.

(iv) Section B — question number 22 to 27 are Short Answer type Questions.
Each question carries 3 marks. Write answer to each question in 60 to 80

words.

(v) Section C — question number 28 to 30 are Long Answer (LA) type
Questions. Each question carries 8 marks. Write answer to each question
in 300 to 350 words.

(vi) Section D — question number 31 to 33 are Source Based Questions

having three sub questions. Each question carries 4 marks.

(vit) Section E — question number 34 is Map Based Question that includes
the identification and location of significant test items. This question

carries 5§ marks. Attach the Map with the answer-book.

(viii) There is no overall choice. However, an internal choice has been provided
in section B, C and D of question paper. A candidate has to write answer

for only one of the alternatives in such questions.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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Qus —<h

(SEferredia TR & ) 21x1=21
1. fr=fafea § 8@ o IR qudae geeo (A.S.1.) % T8 TETHeeh 3 ? 1
(A) T (B) St Hmete
(C) I TH TTe (D) TAFEET ey
2. TH-I <1 fireTd 9-11 8 HifSu 3t frafafaa 8 9w fashed o1 =@ Fifs 1
wWY-1 wWu-11
(TS GUEA) (e =)
I. @l a. e
II. TErE  |b.  T9RH
III. MR c. Emm
IV. &rfe™E |[d. S
ferepeT :
I II III IV
A c a b d
(B) a b d c
) b d ¢ a
(D) d c a b
3. feumu faeeai 4 9 == diet & 39 fog & ug=H i | 1
(A) TITE =it (B) hereTe AieT
(C) TeeTaR HfeT (D) HErseg Hiet
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SECTION - A
(Multiple Choice Questions) 21 x1=21

1.  Who among the following was the first Director General of Archaeological

Survey of India (A.S.I1.) ? 1
(A) S.N. Roy (B) John Marshall
(C) Daya Ram Sahni (D) Alexander Cunningham
2. Match Column-I with Column-II and choose the correct option from the
following : 1
Column-I Column-II
(Harappan Sites) (Present region)
1. Manda a. Gujarat
II.  Rakhigarhi b. Rajasthan
III. Nageshwar c. Haryana
IV. Kalibangan d. Jammu
Options :
I II III IV
A c a b d
B) a b d ¢
) b d ¢ a
(D) d ¢ a b
3. Identify the given image of the ancient temple from the given options : 1
(A) Deogarh Temple (B) Kailashnath Temple
(C) Brihedeshwara Temple (D) Mahabalipuram Temple
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e : FteRaa T hael groaTem qdentiEi & e v 9. 3 F M W R |

frafefaa s fagmi # & & I s e ? 1
(A) sOYE (B) AT
(C) 3 (D) eHI-H-G

4. TAfaiaq I S TEEaT 8 HETURA & 9T hl T8=1e hifg : 1

o TEHIHHIH A

® T U § UL % Y o |

A) gFfem (B) sty
(C) weIchd (D) iy

5. g1 e few e § — aifirehed (A) 3T RN (R) | 3HohT EAMgdsh IfgT 3 @&l feheq
T T T | 1

afiRed (A) : SRS R sfie § o) At 3., w1 Th HEEyul aiadashRI

T HHT STAT 2 |

HWOT (R) : 39 1o I S T, TR, <2 & gd J2T, fent & fohm wd §g
o T I 9 o forehra & A1 ST A1 2 |

(A) (A) 3R (R) 1 w& § 3R (R), (A) H ot =men 2 |
(B) (A) 3R (R) SHI &1 € W (R), (A) 1 9t s 76 2 |
(©) (AR, oq R) T ? |

(D) (A) T, wg (R) @&l 2 |
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Note : The following question is for the Visually Impaired
Candidates only in lieu of Q. No. 3.

Who among the following ancient scholar belonged to Greece ? 1
(A) Zarathustra (B) Kang zi
(C) Aristotle (D) Lao-Tse-tung

4. Identify the character of Mahabharata with the help of following

information : 1

® He was the son of Bheema.

® He belonged to Rakshasa clan from maternal

side.
(A) Duryodhan (B) Abhimanyu
(C) Ghatotkatch (D) Bheeshama

5. Given below are two statements as Assertion (A) and Reason (R). Read

them carefully and choose the correct option. 1

Assertion (A) : The sixth century BCE is often regarded as a major

turning point in early Indian history.

Reason (R) : This was an era associated with early states, cities, use of

iron, development of coinage and growth of Buddhism and Jainism.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A)1s true but (R) is untrue.

(D) (A) is not true but (R) is true.
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6. I TS THHR hH TERAT T TR Witk U <hl &t ek o A9 <l 8= HIfaT 1

o IE fya vk off |

®  IEIA 31U 3L WITH T TR ATLT <hT HFT U7 |

(A) FHEFHIA TR (B) e

(C) e (D) WS

7. Tr=fafaa gensti it wremshiies o 8 Saferd Hifr 3R ad fomer w1 A hifle: 1
I. 76 9T <l YA
II. =R 91T %1 31d
I11. afreTg o Yoeral o1 3¢
IV. IS o Tl % ®9 4 g¥ae &1 3¢

e :
(A) I IIL II 3R IV B) I, I, II3RIV
(C) IIL IV, I3tRII D) IV, I, II 3R III
8. fewwu# @ 3fua ferepe S7ut 3w gftaent | faafaw | 1
g 1 T8 IUCH # feam o |
(A) ST (B) 3THedt
(C) A" (D) @r=ht
9. TS HIHTSY o HHehIef Tl o Hew # s 1 ferhed Tl Tl 8 7 1

(A) 3T TSIl TS hl AT
(B) HTeTe <hl Hoddi hl TATIAT
(C) ST 6t FedAdi i 3¢T

(D) e § ATIRIT I 3T
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6. Identify the name of a woman devotee of early Bhakti tradition with the

help of information given below : 1

[ ) She was a devotee of Lord Shiva.

® She adopted a path of extreme asceticism to attain her goal.
(A) Karraikal Ammaiyar (B) Mirabai
(C) Andal (D) Muktabai

7. Arrange the following events in a chronological order and choose the

correct option : 1
I.  Beginning of Gupta rule

II.  End of Mauryan Empire

III. Rise of Pallavas in Tamil Nadu

IV. Rise of Harshavardhana as a king of Kannauj

Options:
(A) LIILIIand IV (B) II, I, III and IV
(C) II, IV,IandII (D) IV, I, 1II and III
8.  Write the appropriate option from the given in your answer sheet. 1

The first Sermon of the Buddha was delivered at

(A) Bodh Gaya (B) Amravati
(C) Sarnath (D) Sanchi

9. Which one of the following option i1s NOT correct regarding the

contemporaries of Vijayanagara empire ? 1
(A) Establishment of the Gajapati Kingdom of Orissa

(B) Establishment of the Sultanates of Malwa

(C) Emergence of Sultanates of Bijapur

(D) Rise of the Chalukyas in Karnataka
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10. fooaam gwrsy & gy d wH-1 1 e w9-11 8 hifse 3t 98t foeshed =1 ===

i
wy-I wWy-11

(Tl R e amsm R aE ) | (2w ow o gatta Q)
I.  frepien e it a. I
Il 37egy ol b. g
III. 3T sRarE c. g
IV. 3r%mHE fHfhaa d. =9
forepeu

I II III IV
A) a ¢ d b
B) c a b d
C d b ¢ a
D) b d a ¢

11. 7ol T 8 v oh e fereer o ftferiiaa 3 @ M o1 Toh Yg@ SR T8 o |

(A) Yo 6T
(C) Topmmi <t wrfersfierar

(B) 4 hi IucTsyal
(D) F Sl IS

12. T <ht Y—Trerea YuTTelt o Hey § -1 w1 firet wqw-11 < a1 Hifse :

9-1 9-11
L < a.  HeHd SEl TS WA
II. WdweE |b. ®HA HEA & o€ 39 3T | Sl
III. @mseE |c. €999 % gc @d Siedl
IV. =wifas d. i@ e
ferepeu :
I II1 1III 1V
A d C b a
(B) a b c d
) d c a b
D) ¢ b a d
61/4/3/21/QSS4R Page 10 of 32

1



10.

11.

12.

61/4/3/21/QSS4R

Match Column-I with Column-II regarding Vijayanagara empire and

choose the correct option :

Column-I
(Travellers who visited

Column-II
(Country they

Vijayanagara Empire) belonged)
1. Nicolo de Conti a. Persia
II.  Abdur Razzak b.  Portugal
III. Duarte Barbosa c. Italy
IV. Afanasi Nikitin d. Russia

Options :

I II III 1V
(A) a c d b
B) c a b d
C d b ¢ a
D) b d a c

1

Which one of the following was not a major factor that accounted for the
constant expansion of agriculture in the Mughal state ?

(A) Abundance of land
(C) Mobility of peasants

(B) Availability of labour
(D) Availability of tractors

1

With reference to the land revenue system of the Mughals, match

Column-I with that of Column-II :

Column-I

Column-I1

1. Jama a. The amount actually collected

II. Khet Batai

After cutting the crops, putting
it in heaps and divided equally

III. Lang Batai |c. Field is divided when it is sown
for levying revenue

IV. Hasil d. The amount of revenue assessed
Options :
I II III IV
A d ¢ b a
B) a b ¢ d
) d ¢ a b
(D) ¢ b a d
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13. FAfIRad o € A €1 ST gaferd & ?

qH Ta TG I TAH
(A) 3@ gEIEA Fawdt — TSIy (Wi
(B) TSN FqEeH @R ®EL | — T
(©) v fremggm sitfera - feeeht
(D) IRF HGEH TH-T-Ie — 3

14. TosR a1y o g9y # frefaiad fashed § 9 981 e 1 =9 HifT ;
(A) 39 ATHTSY ! ST GoE &% gRI 1 TS |
(B) e T ol §eg % I9=ITd I8 GTHTSY STeheed! gl TR |
(C) dTefiehleT o1 Jg 39 |THTST % foru fommerhrl anferd ga |

(D) ! - JUTTeft HAgegRY JoTelt & off 715 off |

15. 1770 % ffaRad o 9 fopaa yrrerqe ® wgifedi o g <smfa shi fifa w1 s feam 2
(A) foferrm grst
(B) 3T Feflacis
(C) s fat

(D) A g
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13. Which one of the following pairs is correctly matched ?

Sufi teachers

Location of Dargah

(A) Shaikh Moinuddin Chishti — Ajodhan (Pakistan)
(B) Khwaja Qutubuddin Bakhtiyar Kaki |- Agra

(C) Shaikh Nizamuddin Auliya — Delhi

(D) Shaikh Fariduddin Ganj-i-Shakar — Ajmer

14. Choose the correct statement from the following options with reference to

Vijayanagara empire :

(A) This empire was founded by the rulers of Saluva dynasty.

(B) This empire became powerful after the death of Krishnadeva Raya.

(C) The battle of Talikota proved disastrous for Vijayanagara empire.

(D) Their land revenue system was taken from Mansabdari system.

15. Who among the following proposed a ‘Policy of Pacification’ with the

Paharias in 1770 in Bhagalpur ?
(A) William Hodge

(B) Augustus Cleveland

(C) George Chinray

(D) Captain Cook
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16. Tr=fefea o o foraeht getme w mefish 3 fafesr ywa & ymor shea g fy 3R =&t & o
& IR H ST o1 T39 fomam ? 1

(A) =T e et
(B) Toftm =g ot
(C) AT ATSId T

(D) TIITe ST TGS

17. = < 18 SR Y ggrar 9 fafew srfveritt st ug=m Hifse | 1

o 3= ufvandt frenm < e Hh WA THN § gUR H
et 39S |

® 3T Tl WU I WH HH o ToTT T TATT |

o 3z feg fayen foams =+ dgar € |

(A) WIS ARCeeA (B) e Sorwielt

(C) e faferem dfes (D) e fA

18. fr=fafiga # @ forg wrse <1 Suam mefish & ‘1fean’ & <39 1 9uH G & foe feman

AR ? 1
(A) TS (B) Hdlex
(C) dfgsehr (D) dE
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16. On whose advice among the following did Gandhiji attempt to visit British

India and learn about the land and its people ? 1
(A) Bal Gangadhar Tilak

(B) Bipin Chandra Pal

(C) Lala Lajpat Rai

(D) Gopal Krishna Gokhale

17. Identify the name of a British official from the information given below. 1

® He adopted policies of reforming Indian society by

introducing western education.

® He established laws to abolish Sati system.

® He permitted remarriage of Hindu widows.

(A) Lord Mountbatten (B) Lord Wellesley

(C) Lord William Bentinck (D) Lord Ripon

18. Which of the following terms is used to describe Gandhiji’s philosophy of

‘Non-violence’ ? 1
(A) Swaraj (B) Sarvodaya
(C) Boycott (D) Satyagraha
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19. FAfRad o € A A1 ST gaferd & ? 1

wWa-1 wu-11
(8m=) (1857  frgie & )
(A)  SHR - DT
(B) foER — TR
€) wEs - fatfsE g
(D) foem LI

20. frefafiaa fasedl § @ wfaam™ @91 & g9y § 26 69T, 1949 & A wI @A hilT: 1
(A) Iy |t &1 T
(B) Gfaa™ a1 <hl IE3Td
(C) WRd % TP &l b fSATZT HET

(D) Gfaer™ |1 gRT Efae™ W E=1eR

21. Tmfafad & wreamsmirs wa § Srafer S 3R T faemer 1 === HifFu | 1
I 3 g aTia foman i i
II. ST o ST SgiaEd ol TRy
I11. @ fage
IV. S gaeh | et Joref
ferepe
(A) I II, ITII 3R IV
(B) II, III, I 3R IV
(C) II, IV, 13RI
(D) IIL, IV, 13RIl
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19. Which one of the following pairs is correctly matched ?

List-I List -I1
(Regions) (Leaders of the Revolt of 1857)
(A) Kanpur — Kunwar Singh
(B) Bihar —  Gonoo
(C) Lucknow —  Birjis Qadr
(D) Singhbhum | — Nana Saheb

20. Select the significance of 26 November, 1949 in relation to the Constituent

Assembly from the following options :

(A) Formation of the Drafting Committee

(B) Commencement of the Constituent Assembly
(C) Designing of the National Flag of India

(D) Signing of Constitution by the Constituent Assembly

21. Arrange the following in chronological order and choose the correct option.

I.  Limitation Law passed by the British
II. Starting of Permanent Settlement in Bengal
III. Santhal Rebellion
IV. Ryotwari settlement in Bombay Deccan
Options :
(A) L II, III, and IV
(B) IL III, I and IV
(C) IL,IV,IITandI
(D) II, IV,IandII
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22.

23.

24.

25.

26.

27.

s - @
(FTg -3 TR & T9) 6x3=18

(a) YUdcaregl 3 g1 T o f1ed It gl hl e fohd Tehr 1, TTg hifv | 3

YT

(b) FEH W hl TEY IS foRIvaTsT H ¥ Tk MG AT STt et ot
off |’ 39 HUF 1 AR HifT | 3

“§g < TTTRIS HHR I ¢ Icqfd b o HISAT <l THT AT |7 39 e shi &

HINT | 3
SR AT § Fwrea T <t yiftreRt o faversor Hifs | 3
TS WA Y -TTEa JoTTet! shi 9@ shifr | 3
TTelt 4 HieRl, ARl 3T 3l % Raens fagie w6 fn 7 ww iR | 3

(a) 1850 % T3 o A IS 4 WRAT ferarfea =1 siwor fopd IR fomen 7 wm
T | 3

HAYA

(b) 1857 % fagie & <M fafyr= T 3 wg-31feaea &1 e -7 b yebm oo 2
g Hifu | 3
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SECTION - B

(Short Answer Type Questions) 6x3=18

22. (a) Explain how did archaeologists identify the centres of craft

production of the Harappan age. 3
OR

(b) “The most distinctive feature of Harappan cities was carefully

planned drainage system.” Explain the statement. 3

23. “Buddha regarded the social world as the creation of humans rather than

of divine origin.” Explain the statement. 3
24. Analyse the role of Krishnadeva Raya in the Vijayanagara empire. 3
25. Examine the land revenue system of Mughal India. 3

26. Why did Santhals rebel against the Zamindars, moneylenders and the

Britishers ? Explain. 3

27. (a) How did the Britishers exploit Indian Sepoys during 1850s ? Explain. 3

OR

(b) How was the Co-existence of different communities glorified during

the Revolt of 1857 ? Explain. 3
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@Ug - T
(e -37T TR % THH) 3x8=24

28. (a) “UTH WRA § TorEaT &R & WY -t & 9 ft Brdl ot |7 59 e &l
3ergn afga s HifSu | 4+4=8

YT

(b) “TTA VR IUHETEIY H =R U1 < STEvETg foam & 991d & R ft 3 99
% |” 39 Y hl N Higd TIT FHIT | 8

29. (a) WIS RA % SR YT o TsTehi Tt 3R Fsft wufe <6t st < afer o faamo
1 g HifT | 8

HAYA

(b) 3Tt AT o R Teeedt 3TN Sietarae W g7 - o o=l 6l ut@ i | 8

30. (a) UHAIE W AU TUT % TS o ol i T I | 8
Jreran
(b) “dfaam gur s i ==l i BT & H AT i T BT I9E AT |7 39 HH H

ST I | 8
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SECTION - C

(Long Answer Type Questions) 3x8=24

28. (a) “In the ancient India, the Kingship was not only with Kshatriyas but

also with Non-Kshatriyas.” Explain the statement with examples.4 + 4 =8
OR

(b) “In the ancient Indian subcontinent there were populations beyond
the influence of Brahminical idea of four Varnas.” Explain this

statement with examples. 8

29. (a) Examine Bernier’s description of Crown ownership of land and lack

of private property during Mughal India. 8
OR

(b) Examine Ibn-Battuta’s views on Delhi & Daulatabad during his

travels. 8

30. (a) Explain the views of the members of the Constituent Assembly on

federalism. 8
OR

(b) “The public opinion had an influence in shaping the discussions

within the Constituent Assembly.” Explain the statement. 8
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g — Y
(Ea—ATenta 9e ) 3x4=12
31. T=fefad &t emges afeu 3 fou mu et & 3 fafe -

=t

HETCHT TTet STefeh I, foraw wefiei 3 Wi i T ST oW Wl e feu o,
o X 3T O | 3814 =@l Ueh UH, T GHTS o Jdieh €9 4 <@, Toraw mefii
3R RN i ga Afermifed & fohan Sam | 388 o sifus =weEr el o W
ATHEHT TETH L Hehd T AT 372 ST ] ST HehdT T |

Th s A S ufd s A 7 | T8
ek 9| S aTelt Teil & fee R |
A 9 qb ‘HH SEId T o deh b
B 0T foeT 19 % 3R @ & 7
% fotu Tgeht W 7 % few o | &
wTe e o fohel weh feedt o ferg
& afess @t & foru v 3tk om
ST ATEAT § ¢ H G T halohlll HB
g A % gl o g e a@ft %
FIT § AT TR F |
77 51897, 13 79 1924
Wt TIH ol T8 & AT TT8dT Sfceh I8 39 TN 1 (HAfid sidT g 3
3Heh Toehra o1 Ffa star 2 | 98 9l o1 S waiies T A o fore Iehl
31O TSl § LAl 7 | TR 379 3719 | &1 AR 1 e 3ch® T 2 |

7RI, 17 711927
31.1 mefsft w3 & ATetres =1 9 ? 1
31.2 Ufed i AefFL 1 Teh IchS 9T ST HHAT 1 T 7 1
31.3 mefisft 3 =g w1 Hy afgamted fhan g ? 2
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SECTION - D
(Source Based Questions) 3x4=12

31. Read the following source carefully and answer the questions that follow :

Charkha

Mahatma Gandhi was profoundly critical of the modern age in
which machines enslaved humans and displaced labour. He saw the
charkha as a symbol of a human society that would not glorify machines
and technology. The spinning wheel, moreover, could provide the poor
with supplementary income and make them self-reliant.

What I object to, is the
craze for machinery as such.
The craze is for what they call
labour-saving machinery. Men
go on “saving labour”, till
thousands are without work
and thrown on the open streets
to die of starvation. I want to
save time and labour, not for a
fraction of mankind, but for
all; I want the concentration of

wealth, not in the hands of few, but in the hands of all.

YOUNG INDIA, 13 NOVEMBER1924

Khaddar does not seek to destroy all machinery but it does
regulate its use and check its weedy growth. It uses machinery for the
service of the poorest in their own cottages. The wheel is itself an
exquisite piece of machinery.

YOUNG INDIA, 17 MARCH 1927

31.1 Why was Gandhiji critical of machines ? 1
31.2 Why was wheel considered as an exquisite piece of machinery ? 1
31.3 How did Gandhiji glorify charkha ? 2
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32. Tr=fafeq &1 1 e afet 3R 38 i< U e yei & I fafen :

T & AT

TS eeTai firereeet 778 e 2 :

3Tl H AHel I e 3T fafid ®9 @ gee1 T T ol e e T8 o | @i
9 fraferfaa (svaeen) 18 | 0 % TUTER Y q Tfddee Hed Ugd | =g § el
ff , @1 @1 @ g, gL H g, fosm we o g, emen # g, R arershl § g9 @
STRIT ST T@T &1 31T arfeeht | § | § A o T o Fehor & T i |

32.1 camuY forereed fra a1 ?

32.2 TIIHIR 1 ¥ g &% YRl & FHueH 61 Sraenst 6 ganr § R yeR
AT AT ?

32.3 M 3 e atg & g ITe Y 3R AW o TEel i U 7

33. Tr=fafea & 1 ermgEe afeu 3R Fi= few Te syt o 3 fafee

Teh IR
I AT e hHl g AT 2

& uTé Tg ara, ford g &1 wha 3

o Tem o T 2l ) T B 7

o o it P 2 7

YR T 3T ATHT & TR AT @ : S ITeAT8, TH, il FId, TR AL 5 |
ferftrrard o parer wreqt 1 B et snfashR g0 W w1 2 |
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32. Read the following source carefully and answer the questions that follow :

The orders of the king

Thus speaks king Devanampiya Piyadassi :

In the past, there were no arrangements for disposing affairs, nor for
receiving regular reports. But I have made the following (arrangement).
Pativedakas should report to me about the affairs of the people at all
times, anywhere, whether I am eating, in the inner apartment, in the

bedroom, in the cow pen, being carried (possibly in a palanquin), or in

the garden. And I will dispose of the affairs of the people everywhere.

32.1 Who was referred to as Devanampiya Piyadassi ? 1

32.2 How did Devanampiya’s approach differ from past arrangements
regarding the handling of affairs ? 1

32.3 In what way did Devanampiya receive reports and disposed of the

affairs of the people ? 2

33. Read the following source carefully and answer the questions that follow :

The One Lord

Here is a composition attributed to Kabir :

Tell me, brother, how can there be

No one lord of the world but two ?

Who led you so astray ?

God is called by many names

Names like Allah, Ram, Karim, Keshav, Hari, and Hazrat.
Gold may be shaped into rings and bangles.

Isn’t it gold all the same ?

Distinctions are only words we invent...
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33.1 e I TH I b1 forawor - fora g 7 1

33.2 et T g JTEATH ! AT THI H Hdl IEH AT S 7 1

33.3 HelR A fohH TR AT b Jid THTCRM 3R ST 3 hi A hi g 7 2
e - F

CISIEERCICITE R D)) 5x1=5

34. 34.1 wRA % fou U ToHifoe W@-AEeE § FEkiRad o Suw Edl § 3k

FHIfTT 37 376 A1 feafau
() mueEdt - Slg e 1
(i) aNOE - g TR 1
(i) (a) FTeRAR - 14 9 *1 S AH 1
HAYAT
(b) IS - lafimd e am 1

34.2 YA o $E TSi1fdeh {W@T-AFE W T o A 3T B, 1857 & fagig & i
T fafea foram a2 | 3R vE=niT 3R 3 TEl AW 3 e Tl 1 Wisti W
foiRem | 2
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33.1 How did Kabir describe the ultimate reality ? 1

33.2 How does Kabir’s philosophy contribute to a broader understanding

of spiritualism ? 1

33.3 How has Kabir advocated an inclusive and compassionate view of

humanity ? 2

SECTION - E

(Map Based Question) 5x1=5

34. 34.1 On the given political outline map of India, locate and label the

following with appropriate signs :

(1) Amravati — Buddhist site 1

(i1) Varanasi — Ancient city 1

(111) (a) Vijayanagara —An Empire of 14th century 1
OR

(b) Orissa - Territory of 14th century 1

34.2 On the same political outline map of India two places related with
the centres of revolt of 1857 are marked as A and B. Identify them

and write their names on the lines marked near them. 2
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e : FrafaRea wom Fae gieatem wdentiet & fom av7 dem 34 Fem W E |
34.1 9RA ¥ ThEl T Siig WA H1 Jeei@ I |
34.2 WIRd o 7ed &1 H feua foreft weh wria 7R o1 - fafav |
34.3 (a) TocRmR gmsT 6 Teru @1 9m fafa |
e
(b) TR T & Tt Tk TSt T =1 AW feifau |
34.4 WRATT T 3icier 3 i o i o A fafaw |
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Note : The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 34.

34.1 Mention any one Buddhist site of India. 1

34.2 Name any one ancient city located in the central region of India. 1

34.3 (a) Name the capital city of Vijayanagara empire. 1
OR

(b) Name any one neighbouring state of Vijayanagara empire. 1

34.4 Mention any two centres of the Indian National Movement. 2
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